



Impact of Single Nucleotide Polymorphism in the *ANKRD55* Gene on Occurrence and Clinical Characteristics of Rheumatoid Arthritis

Rasoul Salehi¹, Mina Motaghi², Amirhossein Salehi², Hadi Karimzadeh², and Bahram Pakzad^{2*}

1. Pediatric Inherited Diseases Research Center, Research Institute for Primordial Prevention of Non-Communicable Disease and Department of Genetics and Molecular Biology, School of Medicine, Isfahan University of Medical Sciences, Isfahan, Iran

2. Division of Rheumatology, Department of Internal Medicine, School of Medicine, Isfahan University of Medical Science, Isfahan, Iran

Abstract

Background: Rheumatoid Arthritis (RA) has multifactorial etiology and numerous genetic and environmental factors have been related to an increased risk of RA. Recently, Genome-Wide Association Studies (GWAS) suggested a large number of Single Nucleotide Polymorphisms (SNPs) loci affecting the susceptibility to RA. One of these loci is rs6859219 (C>A), a functional polymorphism in the *ANKRD55* gene which was associated with the expression of *ANKRD55* and *IL6ST*. In the current study, we evaluated the possible association between rs6859219 (intronic variant) in the *ANKRD55* gene with RA risk in the Iranian population.

Methods: A case-control study using 118 RA patients and 115 healthy counterparts was undertaken in order to determine rs6859219 genotypes using real-time polymerase chain reaction High-Resolution Melting (HRM) method.

Results: There was a significant difference in the genotype and allele frequencies of rs6859219 between patients and controls ($p < 0.001$). Logistic regression analysis demonstrates that CC genotype and C allele increased the risk of RA (OR for CC genotype = 7.12; 95%CI [3.51-15.05]/ OR for C allele = 4.16; 95%CI [2.78-6.28]). Furthermore, regarding the dominant and recessive model of inheritance, RA patients indicated obvious association of the rs6859219 variant compared to healthy controls ($p < 0.001$). Moreover, in the patient group, there was a significant correlation between C-Reactive Protein (CRP) concentration with rs6859219 polymorphism ($p < 0.001$).

Conclusion: Our findings propose a substantial correlation between rs6859219 polymorphism and RA risk and clinical characteristics of this disease in the Iranian population.

Avicenna J Med Biotech 2022; 14(3): 259-263

Keywords: Autoimmune disease, Iran, Rheumatoid arthritis, Single nucleotide polymorphisms

Introduction

Rheumatoid Arthritis (RA) has multifactorial etiology and numerous genetic (50-60%) and environmental factors have been related to an increased risk of RA¹. Several studies have shown that genetic factors are critically involved in the incidence of RA. For instance, twin studies have shown an increased rate of RA in monozygotic versus dizygotic twins and the heritability of this disease has been estimated to be at around 60%². Single Nucleotide Polymorphisms (SNPs) are the most common form of allelic variation in the human genome and have been recognized on average every 300 nucleotides on usual with a Minor Allele Frequency (MAF) greater than 1%^{3,4}.

With recent advances in genotyping, Genome-Wide Association Studies (GWAS) and SNP arrays have revealed several RA susceptibility loci. For example in one GWAS in European and Asian populations revealed more than 110 susceptibility loci for RA⁵. Based on several previous GWAS studies, the ankyrin repeat domain-55 (*ANKRD55*) gene including intronic SNPs associated with the risk of autoimmune diseases such as RA, Multiple Sclerosis (MS), and juvenile idiopathic arthritis⁶⁻⁸. One of the important polymorphisms in this gene is rs6859219 (C>A) which is located on 5q11.2. Some studies reported that rs6859219 is associated with expression levels of the *ANKRD55* and,

in details, risk alleles of this SNP are associated with higher levels of *ANKRD55* in CD4⁺T cells; while, it does not seem to exert functional effects in terms of splicing and transcription factor binding site modification^{8,9}.

Nevertheless, until now the biological function of *ANKRD55* is unknown and studies only referred to the interaction with numerous proteins by ankyrin repeat domains^{10,11}. *IL6ST* gene encodes the common cytokine receptor gp130. The receptor systems for IL6, LIF, OSM, CNTF, IL11, CTF1, and BSF3 can utilize *IL6ST* for initiating signal transmission. By way of example, binding of IL6 to IL6R induces *IL6ST* homodimerization and formation of a high-affinity receptor complex which activates Janus kinases, leading to the phosphorylation of *IL6ST* tyrosine residues and finally activation of STAT3¹²⁻¹⁴. Therefore, dysregulation in IL6, *IL6ST*, and STAT3 pathways could result in an autoimmune condition¹⁵. In the present study, for the first time, we evaluated the probable relationship between rs6859219 polymorphism with the risk of RA in the Iranian population.

Materials and Methods

Study population

A total of 118 unrelated subjects with RA as a case group and 115 unrelated healthy subjects as a control group were included in this case-control study. Subjects in the case group were recruited from the Alzahra Hospital, Isfahan, Iran. All the RA patients met the diagnostic criteria created by the American College of Rheumatology (ACR)¹⁶. Controls were also selected from the same population with no signs and personal and family history of RA or other immunological and autoimmune conditions. The study was approved by the university ethics board and all participants gave written informed consent. To evaluate any established risk factors for RA, all participants were asked to fill up a questionnaire in order to register the parameters known to influence the RA susceptibility risk including on sex, age (at sampling time) and age of onset, Body Mass Index (BMI, calculated as weight [kg] divided by height [m] squared), blood pressure, the presence of family history of RA and other autoimmune conditions were obtained using a structured questionnaire. Also, we recorded laboratory characteristics such as Erythrocyte Sedimentation Rate (ESR), C-Reactive Protein (CRP), White Blood Cell (WBC), hemoglobin, Platelet count test (PLT), creatinine, Blood Urea Nitrogen (BUN), Fasting Blood Sugar (FBS), High-Density Lipoprotein (HDL), Low-Density Lipoprotein (LDL), and Triglyceride (TG).

Genotyping of polymorphism

Approximately, 3 ml of the blood sample was collected into EDTA anticoagulant tubes from each contributor and stored at -20°C for DNA isolation. DNA was extracted using a DNA isolation kit (GeNet Bio; Korea) consistent with the instruction manual. The

purity and concentration of extracted DNA were assessed by agarose gel electrophoresis and spectrophotometry, respectively, and then DNA was stored at -20°C until genotyping by real-time polymerase chain reaction High-Resolution Melting (HRM) method.

The HRM method was used to determine rs6859219 polymorphism genotypes. The details of the HRM method were described in our previous studies^{17,18}. Amplification of fragment (141 bp) was performed using the primer sense (CGCTACAGTGGTGACCCC) and antisense (GTCATCTCCACCTGCCATA). A 35-cycle PCR was carried out with the following conditions: 5 min at 95°C for denaturation of the template DNA for the first cycle, denaturation at 95°C for 20 s, annealing at 60°C for 30 s, and extension at 72°C for 20 s. In the HRM phase, the Rotor-Gene 6000™ measured the fluorescence in each 0.1°C/s temperature which was increased in the range of 65°C and 95°C. The melting curve was produced by the reduction in fluorescence with the increase in the temperature; and in analysis, nucleotide changes result in different curve patterns.

Statistical analyses

The SPSS 22 (IBM, Armonk, NY: IBM Corp) was used for statistical analyses. The allele and genotype frequencies of rs6859219 were tested for Hardy-Weinberg equilibrium by the χ^2 test. Logistic regression analysis was accomplished to investigate the association between genotypes and RA and calculate specific Odds Ratios (ORs), 95% Confidential Intervals (CIs), and p-values. For demographic, clinical, and laboratory characteristics, p-values were calculated using independent sample t-test, Chi-square, or Mann-Whitney test. The significance level was set at $p < 0.05$.

Results

In our study, we investigated a total of 118 patients (35 males and 83 females with a mean age of 47.3983±9.801 years) and 115 control (37 males and 78 females with a mean age of 46.0304±12.430 years) for *ANKRD55* (rs6859219) polymorphism. The distributions of selected characteristics of the cases and controls are presented in table 1. There was no substantial correlation between case and control groups regarding age ($p=0.238$) and sex ($p=0.678$), demonstrating that for these variables matching was adequate. Between the two groups of subjects, there was a significant difference in terms of BMI ($p<0.001$) and just 19 patients had positive family history of RA and other autoimmune conditions. Based on laboratory tests, the WBC count and concentration of ESR, CRP, and creatinine was significantly higher in patients than in healthy controls ($p<0.05$). On the other hand, the level of hemoglobin was significantly lower in patients than in healthy controls ($p<0.001$). The detailed laboratory characteristics of patients with RA and healthy controls are listed in table 2.

Table 1. Baseline characteristics of RA patients and control subjects participated in the study

Characteristics	Patients	Controls	p-value
Total number	118	115	
Age at now	47.39±9.801	46.03±12.43	0.238
Gender n (%)			
Male	35 (29.7%)	37 (32.2%)	0.678
Female	83 (70.3%)	78 (67.8%)	
Age of onset	42.94±9.01	--	--
BMI	25.95±2.35	23.64±3.35	<0.001 *
SBP	121.35±12.25	120.34±9.83	0.490
DBP	79.06±8.05	79.00±8.58	0.950
Positive family history n (%)	19 (16.1%)	0	--

RA: Rheumatoid Arthritis, BMI: Body Mass Index, SBP: Systolic Blood Pressure, DBP: Diastolic Blood Pressure, SD: Standard deviation. Data are mean±SD, or n (%). * p<0.05.

Table 2. Laboratory characteristics of patients with RA and controls group

	Patients (118)	Controls (115)	p-value
ESR (mm/hr)	38.17±25.89	15.97±6.81	<0.001 *
CRP (mg/l)	17.43±18.86	4.44±2.58	<0.001 *
White blood cell (10⁹/l)	7.19±2.21	6.60±1.46	0.018 *
Hemoglobin (HB)	12.51±1.14	14.15±1.44	<0.001 *
PLT(10⁹/l)	260.44±61.04	249.20±66.25	0.179
Creatinine (mg/dl)	1.02±0.18	0.86±0.19	<0.001 *
BUN	17.13±4.74	16.00±4.47	0.065
FBS	95.96±15.31	91.98±22.01	0.109
HDL	49.44±7.57	49.65±11.41	0.873
LDL	109.69±29.33	108.44±36.64	0.773
TG	165.05±47.02	157.19±68.78	0.309

RA: Rheumatoid Arthritis, ESR: Erythrocyte Sedimentation Rate, CRP: C-reactive Protein, BUN: Blood Urea Nitrogen, PLT: Platelet, HDL: High-Density Lipoprotein, LDL: Low-Density Lipoprotein, TG: Triglyceride, FBS: Fasting Blood Sugar, SD: Standard Deviation. Data are mean±SD, or n (%). * p<0.05.

Genotype and allele distribution

The genotype distribution of rs6859219 polymor-

phism in cases and control groups was in agreement with Hardy-Weinberg equilibrium. There was a significant difference in the genotype frequencies of rs6859219 between RA patients and controls. The frequencies of AA, AC, CC genotypes in the control group were 57, 28, and 15.0%, respectively, and the genotype frequencies in the case group were 30.0, 15.0, and 55.0%, respectively. Significant association was found between CC [compared with AA; (p<0.001)] genotype and RA risk. Our assessments on various models of inheritance for rs6859219 polymorphism established that the genotype frequency of this polymorphism was meaningfully different under the dominant and recessive model among RA subjects and controls group (p<0.001). In allele distribution analysis, we found an increased level of allele C in patients (63%) compared with controls (29%) and this allele was associated with an increased risk of RA (p<0.001) (Table 3). Our analysis established that stratification based on mean serum concentration of CRP in the patient group is significantly different in genotype stratification (p<0.001). In detail, patients with risk allele (C) have a higher concentration of CRP (Table 4).

Discussion

To the best of our knowledge, our study is the first research in the Iranian population that evaluated the association between *ANKRD55* polymorphism, rs-6859219, with the RA risk. Many GWAS suggested numerous different SNPs loci in different genes associated with RA. The rs6859219 polymorphism in the *ANKRD55* gene is one of these loci which GWAS revealed its association with RA ⁷. This polymorphism (rs6859219) is located in the seventh intron of the *ANKRD55* gene ⁸. This gene highly expressed in CD4⁺T cells but the biological function of *ANKRD55* is unknown. Lapuente *et al* demonstrated that rs-6859219 is associated with higher levels of *ANKRD55* in CD4⁺T cells. Also, Clark and coworkers demon-

Table 3. Association between genotypes and allele frequency with RA risk

Genotype group	Patients (n=118) n (%)	Controls (n=115) n (%)	OR (95%CI)	p-value
AA	35 (30%)	66 (57%)	Reference	---
AC	18 (15%)	32 (28%)	1.06 (0.48-2.27)	0.99
CC	65 (55%)	17 (15%)	7.12 (3.51-15.05)	<0.001 *
Allele				
A	88 (37%)	164 (71%)	Reference	---
C	148 (63%)	66 (29%)	4.16 (2.78-6.28)	<0.001 *
Dominant inheritance				
AA	35 (30%)	66 (57%)	Reference	---
CC+AC	83 (70%)	49 (43%)	3.17 (1.79-5.69)	<0.001 *
Recessive inheritance				
AA+AC	53 (45%)	98 (85%)	Reference	---
CC	65 (55%)	17 (15%)	7.00 (3.62- 14.11)	<0.001 *

* p<0.05; RA: Rheumatoid arthritis.

Table 4. Stratification analyzes of the ANKRD55 polymorphism (rs6859219) in patients (118 RA patients)

Genotype group	AA (n=35)	AC (n=18)	CC (n=65)	p-value
Age of onset	44.71±8.76	40.72±9.59	42.61±8.94	0.284
Sex				
Males	11(31%)	6(33%)	18(28%)	0.865
Females	24(69%)	12(67%)	47(72%)	
ESR (mm/hr)	35.62±24.06	31.77±21.68	41.32±27.71	0.304
CRP (mg/l)	5.68±5.84	13.53±7.03	24.84±21.99	<0.001 *
Creatinine (mg/dl)	1.03±0.17	1.01±0.19	1.01±0.18	0.835
BMI	26.54±2.34	26.09±1.88	25.60±2.43	0.157
Hemoglobin (HB)	12.44±1.23	12.98±0.83	12.41±1.14	0.160

ESR: Erythrocyte Sedimentation Rate, CRP:C-reactive Protein, BMI: Body Mass Index, SD: Standard Deviation.

Data are mean±SD, or n (%). * p<0.05.

strated that the location of this variant acts as an enhancer for *IL6ST* and the risk allele in this variant was associated with modulation of *IL6ST* expression¹⁹. Some studies referred to the influence of this polymorphism in autoimmune disease susceptibility through an effect on the expression of *IL6ST*⁷. In the current study, logistic regression analysis determined that homozygous CC genotypes compared with the AA genotype increases the risk of RA [(CC vs. AA; OR=7.12 (3.51-15.05)]. Similarly, the difference model of inheritance increases the risk of disease (OR for recessive and dominant inheritance were 7.00 and for 3.17, respectively). Furthermore, subjects with allele C were more frequently affected with RA than subjects with A allele [OR=4.16; 95%CI (2.78-6.28)] (Table 3). Our finding was consistent with a GWAS study in the European descent that carried out by Stahl *et al* in 2010 which demonstrated for the first time the association of this polymorphism with RA⁷. In another study, Lill and coworkers in their GWAS studies carried out on samples from Germany and France revealed that this polymorphism also is correlated with increased risk of MS. Likewise, the other study on the Spanish population demonstrated that rs6859219 is associated with MS. Yazdanpanah *et al* reported that CC genotype in this polymorphism was correlated with increased risk of MS in Iranian population²⁰.

Furthermore, in the patient group, we found a significant correlation between CRP concentration and rs6859219 polymorphism (p<0.001) (Table 4). The amount of these factors indicates levels of inflammation in the body and refers to active disease. This result demonstrates the association of risk allele with the severity of the disease^{21,22}.

Conclusion

Our analysis showed that rs6859219 is a strong determinant for RA risk and disease activity. However, performing replicative studies in every population is a necessity to validate these results. Finally, in this work, probably, some possible limitations in the statistical

validity of our results such as small population size exist; so further association studies in larger sample size would help to confirm the suggested correlations. Also, other polymorphisms that were not included in our study might be involved in determining the risk of RA, thus future studies are necessary.

Acknowledgement

We would like to appreciate the financial support provided by Isfahan University of Medical Sciences.

Conflict of Interest

None declared.

References

- Deane KD, Demoruelle MK, Kelmenson LB, Kuhn KA, Norris JM, Holers VM. Genetic and environmental risk factors for rheumatoid arthritis. *Best Pract Res Clin Rheumatol* 2017;31(1):3-18.
- Svendsen AJ, Kyvik KO, Houen G, Junker P, Christensen K, Christiansen L, et al. On the origin of rheumatoid arthritis: the impact of environment and genes--a population based twin study. *PLoS One* 2013;8(2):e57304-e.
- Nelson MR, Marnellos G, Kammerer S, Hoyal CR, Shi MM, Cantor CR, et al. Large-scale validation of single nucleotide polymorphisms in gene regions. *Genome Res* 2004;14(8):1664-8.
- Simonian M, Mosallaei M, Khosravi S, Salehi R. rs-12904 polymorphism in the 3'-untranslated region of ephrin A1 ligand and the risk of sporadic colorectal cancer in the Iranian population. *J Cancer Res Ther* 2019; 15(1):15-9.
- Okada Y, Wu D, Trynka G, Raj T, Terao C, Ikari K, et al. Genetics of rheumatoid arthritis contributes to biology and drug discovery. *Nature* 2014;506(7488):376-81.
- Hinks A, Cobb J, Marion MC, Prahalad S, Sudman M, Bowes J, et al. Dense genotyping of immune-related disease regions identifies 14 new susceptibility loci for juvenile idiopathic arthritis. *Nat Genet* 2013;45(6):664-9.
- Stahl EA, Raychaudhuri S, Remmers EF, Xie G, Eyre S,

- Thomson BP, et al. Genome-wide association study meta-analysis identifies seven new rheumatoid arthritis risk loci. *Nat Genet* 2010;42(6):508-14.
8. Alloza I, Otaegui D, De Lapuente AL, Antigüedad A, Varadé J, Núñez C, et al. ANKRD55 and DHCR7 are novel multiple sclerosis risk loci. *Genes Immun* 2012; 13(3):253-7.
 9. De Lapuente AL, Feliú A, Ugidos N, Mecha M, Mena J, Astobiza I, et al. Novel insights into the multiple sclerosis risk gene ANKRD55. *J Immunol* 2016;196(11): 4553-65.
 10. Mosavi LK, Cammett TJ, Desrosiers DC, Peng Zy. The ankyrin repeat as molecular architecture for protein recognition. *Protein Sci* 2004;13(6):1435-48.
 11. Ugidos Damboriena N, Mena Lucía J, Baquero S, Alloza Moral I, Azkargorta M, Elortza F, et al. Interactome of the autoimmune risk protein ANKRD55. *Front Immunol* 2019;10:2067.
 12. Waetzig GH, Chalaris A, Rosenstiel P, Suthaus J, Holland C, Karl N, et al. N-linked glycosylation is essential for the stability but not the signaling function of the interleukin-6 signal transducer glycoprotein 130. *J Biol Chem* 2010;285(3):1781-9.
 13. Schütt A, Zacharias M, Schneider N, Horn S, Grötzinger J, Rose-John S, et al. Gp130 activation is regulated by D2-D3 interdomain connectivity. *Biochem J* 2013;450 (3):487-96.
 14. Hibi M, Murakami M, Saito M, Hirano T, Taga T, Kishimoto T. Molecular cloning and expression of an IL-6 signal transducer, gp130. *Cell* 1990;63(6):1149-57.
 15. Forbes LR, Milner J, Haddad E. STAT3: A year in Review. *Curr Opin Hematol* 2016;23(1):23-7.
 16. Aletaha D, Neogi T, Silman AJ, Funovits J, Felson DT, Bingham III CO, et al. 2010 rheumatoid arthritis classification criteria: an American College of Rheumatology/European League Against Rheumatism collaborative initiative. *Arthritis Rheum* 2010;62(9): 2569-81.
 17. Salehi A, Nasrollahzadeh Sabet M, Esmaeilzadeh E, Mousavi M, Karimi J, Pakzad B. Impact of miRNA-binding site polymorphisms in STAT3 gene on occurrence and clinical characteristics of systemic lupus erythematosus. *Lupus* 2022;09612033221076739.
 18. Ehtesham N, Zare Rafie M, Esmaeilzadeh E, Dehani M, Davar S, Mosallaei M, et al. Three functional variants in the NLRP3 gene are associated with susceptibility and clinical characteristics of systemic lupus erythematosus. *Lupus* 2021;30(8):1273-82.
 19. Clark AD, Nair N, Anderson AE, Thalayasingam N, Naamane N, Skelton AJ, et al. Lymphocyte DNA methylation mediates genetic risk at shared immune-mediated disease loci. *J Allergy Clin Immunol* 2020;145(5):1438-51.
 20. Yazdanpanah M, Jalilian N, Abdollah Zadeh R, Sahraian MA, Noori-Dalooi MR. Investigating the association of polymorphisms of ANKRD55 and MMEL1 with susceptibility to multiple sclerosis in Iranian population. *Int J Neurosci* 2021;1-6.
 21. Shrivastava AK, Singh H, Raizada A, Singh S, Pandey A, Singh N, et al. Inflammatory markers in patients with rheumatoid arthritis. *Allergol Immunopathol (Madr)* 2015;43(1):81-7.
 22. Dessie G, Tadesse Y, Demelash B, Genet S, Malik T, Dejenie TA. Evaluation of C-reactive protein and associated factors among patients suffering from rheumatoid arthritis at Tikur Anbessa specialized Hospital, Addis Ababa, Ethiopia. *Open Access Rheumatol* 2021;13:247-55.